Pictuze t/Lis, wotrk peop[e, twying to concentuate, as cars honk past like a herd 0][ anguy thinos. Their deadlines are
coming up n [655 t/ccm a c{ay, éut tAey can ’t ][ocus on tAe Wo’zk ﬂ /[e’wemf[y agiee tlrat w‘zéan areas s/rou/c[ convert
movte woads into ca’z—ﬁee zones, proutizing pec!est’zians and cyc/ists. Vot on[g will it recuce g/oba[ warming, but it

wi// ’zesu/t n /ess notse, especia/[y ﬁ)’z WO’ZA peop[e, am{ it ’zesu/ts n [ess ’zisk o][ chi/cl’zen /etting /m’zt.

j.i’zst[y, converting mote voads into ca’z—ﬁee zones in wiban areas, will wesult in less notse, especia/[y J[o’z wotk peop/e.
Wo’zking with llonking and engnes rewing and the screech oj[ tizes on ’zoacls, (s ’zea/[y annoying. pa’zticu/a’z/y g[ you know
you have a deadline that very c{ay. For examp/e, thewe s an oﬂce &ig/tt on the busiest voad in the city. ﬂonkiﬂg ][L[/S the
alr in olagtime, and at nig/uf, stiange /[g/zts zoom past. jnsic[e, you can hear it as c[ea’zly as you can outsicle. Tl he wal s
6/0 vety /itt/e to é/OCL t/ze notse. /4 /ucky ﬁzw /Lave /Leac[p/wnes on, éut t/w’ze sn ’t enoug/z to go a’zounc/. /4na/ ﬂ fo&got to
mention that you have to finis/t wuiting a 2000 word recount [Jy midnig/lt toc{ay. You mig/Lt say that you could Just add
sounc[—p’zooj[ Wa/[s. ﬂ-i’zst/y, the éui[ding and constuuction oj[ t/ze wall will be louc[ and it s way too expenstve fo’z companies
to a/%’zc/. /4[90, some peop/e mig/lt state t/wlt even g[ we take away "zoac!s, t/ze’ze ’5 going to [)e t/ze same amount 0][ cars,
which means mote t’zaﬂc, which equa/s even louder woads. Even t/zougll less voads and the same amount 0][ cats does
mean moze tmﬁe, don’t you think that g[ you e always stuck in tm/%c evety sing[e a/ay, that you would swap tactics and

try wa/king instead?

j.u&tlze&mo’ze, it reduce the chance 0][ childven getting hust. Parents aze consistent/y wottied about their child’s Aea[t/z,
whethet it's ﬁom sickness o ﬁom visk o y[ the parent s just pa’zano[d. Students that walk to school are constcmt/y in the
uisk of getting hit bg a car. Getting hit éy a bike is not that [ike[y as bikes don 't are smaller and can tuin quicke’z. Getting

hit by a peson (s even /ess /ike[y, but it oloesn 't hust Lj[ you c[o, un[ess that petson (s weat ’zea/[y hard jewe/&y eve’zyw/ze’ze.

Moteover, cas cause g/oéa/ warming. Did you know, that up to 25% of g/oéa/ warming (s cause éy cars? ﬁy ’zeo[ucing
cazs, the number of cars on roads will decrease too, as B mentioned in my j[i’zst veason. | his will lead to less gas emissions
ﬁom cars, and can slow down g/oéa[ warming. You mig/lt think, wlty s g[oéa/ warming such a éig deal? Well, ][o’z one,
it's wining sea /y[e gloéa/ warming causes temperatures and sea level to vise, ocean aciclylzcation and c[ismptions to
maziine eosystems. Tl hese c/umges can lead to coral é)/eaclting, loss 0][ [Jioc[ive&sity, and increased coastal ﬂooc/ing. W/ wo,
it's making carth hotter and /y[e harder ][o’z evety t/ting. You mig/tt say that not all cars cause g/oéa/ warmng, electsic

ones don t. But not all cars are electric. Some aze pa’ztia//y electric, some ae not electu.

In conclusion, passionate/y agree that we should convert mote 1oads into ca’z—ﬁee zones, puottizing pec{est’zians and
cgc/ists n u’zéan areas. Because it &eo[uces notse /eve[s, ’zeo[uces the c/tances oj[ childven getting /lu’zt, and it prevents g/oba/

warming.






